
RM-120 Rack-mount kit
Contents:
1 x Pair of Rack-mounts RM-120
1 x M3x6 Screw Pack (12 x Screws)
1 x Rack-mount Screw Pack:

4 x M6 Screws
4 x Cage Nut
4 x Washer

Cage
Nuts

4 x M3x6 screws

Remove unit screws
and replace with
M3x6 screws supplied

Tighten
to lock

Rack-mount length 454mm extendable to 715mm

Copyright © 2019 tvONE™. All rights reserved. Registered in the 
U.S. Patent and Trademark Office.
tvone.com
info@tvone.com

MNL-RM-120 Version 1.10

Fit M3x6 screws
supplied into top and
bottom casement holes

Left Rack-mount Front

Fit M3x6 screws
supplied into top two

casement holes

Right Rack-mount Front




